DET- 901% C1 M’JA.‘W“. & Lyxs Diplowa camse)
e EERITY ‘ DET/PHY (4)
' PART1 4
(PHYSICS)

Note : ( Take g=9.8 m/s?)

. A person of 60 kg wt carrying a load
of 60 kg takes 2 minutes to reach
the top of a building of height 6 m by
walking in a staircase. What is the
power of the person ?

(A) 294 W
(B) 58.8 W
(C) 882 W
(D) 1764 W

. In which of the following cases the
inertia of rest of a body is measured ?

(A) Speed
(B) Acceleration
(C) Mass
(D) Power

(A) 29.4 W

Qa9 : (g=9.8 m/s?6QIM A {2 )

1. 60kgwt Q9] @68 S4Q 60 kg Q 9Q

6QI¢ gaia G QIR0 69a GFOIQ 6 m
Q% 99 6QI0I @9 d186a CLEQ
aR 2 88¢ RUER | NIF! AIGIR
6Q60 ?

(B) 58.8 W
() 882 W
(D) 1764 W

. Q6QIQ AAYQ 69Q 69G6R IR AR

docia LS aAdIArg ?

(A) 699
B) @4
©) oge
D) ags
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DET/PHY (4)

3.
C
3 5m
. B D
5m 5m
4 E
Sm Sm
F

The figure given above is a regular
hexagon. A man moved on its boun-
dary from 4 to D in the path indicated
by arrows. The magnitude of his

displacement is
(A) 15m

(B) 104/3m

©) 6/3m
(D) 10m

Sm
. B D
5m Sm

A E
Sm Sm
i F

QA6Q 9@ 08T 1@ QAN FAQR 688!
@68 QU@ W@ 69Qe ARQIAIE A4
0IQ D adis ¢18 Qial Qo1e aesa
dIgl @Kem | Qe IQARa adaia
cRQ8

A) 15m
B) 10+3m

©) 6+3m
(D) 10m
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4. If there is a current of 0.4A in a con-

ducting wire then the number of
electrons that flow through any cross-
section of the wire in 8 s would be

(A) 2x10°
(B) 4x 10"
(C) 8x10”
(D) 3.2 x 10%°

20|-
g 151+
210]-
i o
) 'J i i
2 4 6 8
t in second ¢

It is indicated from the given graph
above that the motion of the body is

(A)
(B)
©)
(D)

of uniform velocity

of non-uniform velocity
of uniform retardation

of non-uniform retardation

4. 99 4RI QI9Ex e

DET/PHY (4)

6Q19Q
aARqIe 0.4 A g6m, 9@ QI 64
eRlEd gEERe AYEaR 8 s 6Q 9IER
RAEARER A°HY| 629

(A) 2x10"
(B) 4x 10"
(C) 8x 10"
(D) 3.2 x 10
20|
15—
10—

s oQ6a

—

5]—

Qe 9@ ems o8Q 991e 9 64
g 98

(A) Q9 afeee I9g

(B). 2Q9 9a6ad I8¢

(C) Q9 are I8g

(D) aQn aee I8
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6. The function of the commutator in the

electric generator is

(A) to rotate the armature

(B)

to change the direction of cur-
rent in the external circuit

©)

to keep the direction of current
in the external circuit constant

(D) to hold the magnet steadily

. If 10 J work is done to make a charge
of 2x107°C flow between two points
of a conducting wire, then the elec-

trical potential difference between
these two points would be

(A) 5V
B)
©)

D)

50V
500 V
5000 V

6. G390 RE6R AYICTTAR RIF 6298

(A) 26609 RS
(B) <Igy 9QQea g6 gelea @9
QRIS
(C) <Igy 9QQ2ea Tye, g @4
4o Qgel

(D) QARY Jawlea G ag<l

. 9 P9Il 019Q 9RF Qg quiea

2x107°C Q8QI6a 918 gLIEe KaIas!
g 10] @Iy QHGe caRdeR, 692
Q@ Qg fAYea QQIe AEe aldey
699 ‘

(A) 5V
(B) 0V
(C) 500V
(D) 5000V
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rule, the thumb, forefinger and
middle finger are kept at right angles
to one another. If the thumb is kept in
the direction of motion of the con-
~ ductor, then which one of the

following would be indicated by
the middle finger ?

(A) the electric field
(B)
- (©)

(D)

the magnetic field
the induced electric current

the magnetic moment

. The ratio of the electric power dis-
sipated in a 4 Q resistance connected
to a 12 V battery to that dissipated in
a 3 Q resistance connected to the
same battery would be

(A) 16:9
(B) 4:3
(C) 3:4
(D) 9:16

8. According to Fleming's right hand

DET/PHY (4)

8. 6gf'e ©RE Qg Q{od gl

QRIgR, 6991 8 rAlg 999l 98
A QNER QdleR | A8 QRIGRY
JRQIL1R 98 T96Q QslILI, 666Q
ARUIAI QIR FEEIQ FIYg 699 AUTTR
Q4 go1e 689 ?

(A) 9949 689

(B) QAR14 699

(C) 6906 gie gdeIg
(D) ¢Ae1a 2194

. 12V Quiecql Q8 2°ge 4 Q 99R

QG6QIEea RYFG 63948Q AIGIR 6
68 QYIETQ1 A2 3 Q @ ARY 9
geealuea Q4ae 65Qiee dIgiae
2QQIe 629

(A) 16:9
B) 4:3
©) 3:4
D) 9:16
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DET/PHY (4)

10.By pulling a copper wire uniformly its

11.

length was made twice its original

length. If the resistance of the original -

wire is 8 Q , then the resistance of
the elongated wire will be

A) 32Q

B) 16Q

©) 4Q

D) 2Q

In which case of the following combi-
nations of three resistances in parallel

connected in a circuit with a 12V
battery, will the current be minimum ?

(A) 10Q, 15Q, 25Q

(B) 10Q, 15Q, 300
(€) 10Q, 25Q, 30Q

(D) 15Q, 25Q, 30Q

10.99 GA1 919g AN 18 G2

11.
Q6T ¥R 12V Q4I66Q1 A2 A°6QAIT

e 6Jdia 9aQe ARl | AT e
QIR%a gosaly 8 Q &g, 6669 WA
QARSI 9195 YBERIM 629

) 32Q
B) 16Q
(C) 4Q
D) 2Q

F6qI9 AaYg 69 gREaRIGA] ANISA

Q6R CGQU6a TQPE gL QLEe
62Q 7 .

(A)
(B)
©)
(D)

10Q, 15Q, 25Q

10Q, 15Q,30Q
10Q, 25Q, 30Q

15Q, 25Q, 30Q

( Space For Rough Work)

(6)

(Continued)'



20

2
A

The reading of voltmeter V in the
above given electric circuit will be

(A) 0.833 volt
(B) 1 volt
(C©) 1.2volt
(D) 2.4 volt

13.1f two electric heaters each of 500 W

and three electric bulbs each of 60 W
are used for 5 hours a day on the
average then how many units of elec-

tricity will be consumed in the month
of April ?
(A) 270
B) 177
) 153
(D) 150

DET/PHY (4)
2Q

(oro
L.

Il‘}

QA6 9@ @ng a0C26 ERIRFSR
V QIQI 9916 QloIF 629

(A) 0.833 volt
(B) 1volt
(C) 1.2volt
(D) 2.4 volt

13.500 Wa 9@8 QIQue S99 B 60 Wa

e6eRIg @qqo ANQ LWARR Qeg

5091 6Rdd 94986 626R IR
AIA6Q 6@66 QAT @gye 49 <ude
629 ?

(A) 270
®B) 177
(C) 153
(D) 150
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'14. Three fourth of a log of wood of 100

kg lie submerged inside water while it
floats in water. Then the weight of the
displaced water by it is

(A) [qualto its weight.
(B) 0.75 times its weight.
(C) 1.25 times its weight.

(D) 1.33 times its weight.

15.The densities of two liquids each of

equal mass m are d_and d, respec-
tively. A uniform mixture is prepared
by mixing the two. The density of this
mixture would be

1
@) (di+dy)

(B) did,/2(d, +d,)
(©) 2dd,/(d +d,)

(D) \fdd,

14.100 kg Q 9@ @10 G918 SR6Q QUS|

696% 92IQ BF 0QdIrd FR6] FARe
Q6L | 6969 Y2 QA YA FRA
6eQ YeIQ

(A) 699 92 7S |

(B) 6eeQ 0.75 94 |
(C) 699 1.25 g4 |
(D) 6eea 1.33 Q6 |

15.99 9gQ m 3¢ 9aF 0% d9lda

QAIQE! QUIREA d, B d, UE | T Q@
eQeq A6IQIR 99 A 86 9ge /-
dml | 98 Fgaa KTl 68

|
(A) E(dl ) dz)

B) dd,/2(d,+d,)
(C) 2 dd,/(d,+d,)

(D) \Jdd,
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16.The temperature of an iron sphere
A and that of a copper sphere B are
respectively 60 °C and 149 °F. Then
the temperature of A4 is

(A) equaltothatof B

(B) greater than that of Bby 3 °C
(C) less than that of Bby 5 °C
(D) 0.9 times that of B

17.0ut of the following which one

changes at the time of boiling of

water ?

(A) Specific heat
(B) Latentheat
(C) Quantity of heat

(D) Temperature

DET/PHY (4)

16.6R12 691 4 @ QlgaIgl 8 Q19

coIm@ BQ QIaaigl Qaigeqn 60 °C
@ 149 °F 26%' | 6062 4 @ GQ197Ig!

(A) B @ Qlaqigl a2 aAIe

(B) B @IgaIgl 0 3 °C 2K
(C) BQ SIQeIgl 01 5 °C @4
(D) B @ 0AIgia 0.9 g6

17.99Q 07 UQQIER F6qIg Auig -

6RR0Q 90Qa 6RIR2g ?

(A) Qg eIa
(B) 99 @1a
(C) <l1a aqié

(D) <lgaIgl
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18. The weight of a hollow sphere made

of silver is 210 g in air. On immersing
it in water, 25 cm?® of water was dis-
placed. The volume of the empty
space inside the sphere would be
(Density of silver is 10.5/cm?)

(A) 10 cm?
B) 5cm?
(€) 0.1 cm?
(D) 0.05 cm?

19. The kinetic energies of two iron balls

of masses 1 kg and 2 kg are equal. If
the momentum of the 1 kg ball is
p] units and that of the 2 kg ball is
p, units, then p, : p, would be

(A)
B) 1:2

©€) 1:42
AD) ~d-+-)

1:4

18.

QaIea LU Y@ Tl 6N
QIgeq Bee 210g US| 6INRTY
AR6a 92IARIQ 25 cm’ /R ARG
6ERAI | 6QINRTR el 2da KA

- 629

19.

(qQIQ QLS 62@& 10.5/cm®)

(A) 10 cm’

(B) 5cm’

(©) 0.1 cm?
(D) 0.05 cm?
1 kg 8 2 kg 9gQ 949 96 62
60¢g AR GO 99 4g 2T | A
1 kg 6995Q Q690 p, 9@@ IQ° .

2 kg 694GQ Q°696 p, 9@ ¢Y,
6069 p,: p, 699

A) 1:4
B) 1:2

©) 1:42
D) 1:1
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20.2 litres of water was converted into

21.

ice at a temperature of 273 K. If the
latent heat of ice is 80 calorie per
gram, then the amount of heat liberated
in joule in this process would be

(A) 380952
(B) 672000
(C) 38095.2
(D) 16042

The length, breadth and height of an
iron box are 40 cm, 30 ¢cm and 20 ¢cm
respectively. If the weight of the
box with the articles in it is 50 kg wt
and the 40 cm x 30 ¢cm face becomes

its base ; then the pressure on this
face would be

(A)
(B)
©)
(D)

4083 N/m?
6125 N/m?
8167 N/m?
20417 N/m?

20.2 [eQ

21

DET/PHY (4)

e9g 273K Q19919169

QATER JdAge QAN | QTS

98 91T 80 RYIERIAT/FIF 626R, 1@

gg9I6a Qde ©1ae ARAIE gRsR
629

(A) 380952
(B) 672000
(C) 38095.2
(D) 16042

NQ 6Rle QU AR, IE ¥e° QL6

22196¢1 40 cm, 30 cm G 20 cm 2166
QIgg FRE Q2 QIgea 68 50 kg wt
626@ 99° 40 cm x 30 cm 9EE LI
QF 62IRgsa, I8 99 g9F ola 699

(A) 4083 N/m?
(B) 6125 N/m?
(C) 8167 N/m?
(D) 20417 N/m?
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22.0n striking a nail by a 0.5 kg hammer

moving with a speed of 50 m/s, the
hammer comes to rest in 0.01s. The
force exerted by the nail on the
hammer would be

(A) 250N
(B) 500N

(C) 1250N
(D) 2500 N

23.The distance between the bodies 4 and
B is .5 m and that between 4 and C is
10 m. If the gravitational force be-
tween A and B becomes equal to that
between 4 and C, then the mass of B
is how many times that of C ?

(A) 0.25 times
(B) 0.5 times
(C) 2 times
(D) 4 times

22.50 m/s 6996Q QGENR 9@ 0.5 kg
RIQE QA €IS RI0 AGIER T

21688 0.01s 6@ JaIegiq &led |
Q4IC QT QU6 J6UIC [QAUR R
629

(A) 250N
(B) 500N
(C) 1250N
(D) 2500 N

23.4 @ BgQQa FRIY6Q MRUIR 5 m 9e°

A 6 C 9gee f16Q 4QIe 10 m

26e | 99 4 8 B cl46Q 9§ [AINR
ALISEE @@ 99° 4 6 C Y6 98
RAGIR OAREE QYD AR gAR,
6069 B @ 9gQ C @ 9¢gQQ 6@6¢

Qe ?
(A) 025 Qe
(B) 0.5g6
(©) 29&
(D) 498

( Space For Rough Work)
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24. Which one of the following is not a
contact force ?

(A) Friction
(B) Gravitation
(C) Tension
(D) Pull

25. A body moving with uniform accelera-
tion covers 120 m in 8 s and 252 m in
12 s. The initial velocity and accelera-
tion of the body in S.I. units are
respectively.

(A) 2and?2
(B) 2and3

(C) 3and2
(D) 3and3

DET/PHY (4)

24.569)IQ FYQ 626 A°Ad IR Q6L ?

(A) Qde
(B) q2ladea
(C) e
(D) @€l

25.Q0QQ486Q  999QaSl 9@ g 8

626@46a 120 m 2GR Q6 9Q°
12 6Q6Q€6Q 252 m 2K R6Q |
Qgea gIede qaeea B8 Qd
A2IREE 9D, Q. IRIEQ 6269

@A) 2 62
B) 2 63

(€ 362
D) 363
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DET/CHEM (4)

PART—II
(CHEMISTRY)

26. (a) All bases are not alkalies. 26.(a) QQ Q19 AINQIRN 23 |

(b) All combustible substances are (b) 99 22R4IR 9QIE GRREIR |
inflammable.

(¢) ARIRGIA Y@ NG 26T |
(¢) Amalgam is an alloy.

(A) (a) and (b)are correct and (c) is (A) (a) 8 (b) OR q&* (c) QR
wrong

(B) (b) and (c)are correct and (a) is (B) (b) 8 (c) OR 4&° (a) QM
wrong

(C) (c) and (a)are correct and (b) is (C) (c) 8 (a) OR 9&° (b) YR
wrong

(D)(a) (b) and (c) are correct (D) (@), (b) 6 (c) OR

( Space For Rough Work)

(14) (Continued)
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2 X0, is the formula of a metallic 27.X0, 6208 Y@ e URARLQ

oxide. d°6Qe |

(a) The formula of the chloride of the (a) 698 QR 6QANLQ L°6RG 629
metal would be XCl,. ' XClL 1

(b) The formula of the sulphate of the (b) 69% IQQ ARETEQ Q6QE 629
metal would be X(SO,),. - X(80,), |

(¢) The formula of the nitrate of the (c) 698 YA FINCCER A6RG 62
metal would be X(NO,), . X(NO,), | |

(A) (a) and (b)are correct and (c) is (A) (a) 6 (b) OK 9 (c) QM
wrong

(B) (b) and (c)are correct and (a) is (B) (b) 8 (c) OR 9&" (a) R
wrong :

© -(c) and (a)are correct and (b) is
wrong

(C) (c) 8 (a) OR 9&” (b) QN

" (D)(a), (b) and (c) are correct (D) (a), (b) 8 (c) BR

( Space For Rough Work)
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DET/CHEM (4)

28. In the modern periodic table the lan-  28.2Iy5@ 9dYS QAIREER RRIFIE G
thanide and actinide elements belong

0 1QAI9e 6AIRegee

(a) the same group and the same (a) 991 6981 99° QI AYINGS |
period.

(b) the same “group and different (b) 491 68N 9° AR A4 US|
periods.

(c) the same period and different (c) ¥QI 9dYIR 99° AR §e 699199 |
groups.

(A) (@) is correct and (b) and (c) are (A) (a) O) 9e° (b) 8 (c) QM
wrong

(B) (b) is correct and (c) and (a) are

(B) (b) OR 9=° (c) 8 (a) QR
wrong
(C) (¢) is correct and (a) and (b) are (C) (c) 0R 4&° (a) 8 (b) QR
wrong ,
(D)(a), (b) and (c) are wrong (D) (a), (b) 8 (c) YN

( Space For Rough Work)
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29. (a) When metals react with hydrogen,

hydrides are formed.

(b) When non-metals react with hy-
drogen, hydrides are formed.

(c) Metal hydrides are covalent
compounds and non-metal

hydrides are electrovalent com-

pounds. L %8

(A) (a) and (b)are correct and (c) is
wrong

(B) (b) and (c)are correct and (a) is
wrong

(C) (¢) and (a)are correct and (b) is
wrong

(D) (a), (b) and (c) are correct

DET/CHEM (4)

29.(a) QYRR LURGLIEER A2 goeFal

QR0 2RQIAR F0F KB |

(b) 2RIYFeR LIR6LIETR A2 gGRa
A0 2R2IRL G108 298 |

(c) MIeR 2ARCINBYSS QAT A°6AIR1
6@ 2ACE WQ° RIS 2UR-
QIRegea JQie W ealal 6d1de
268 |

(A) (a) 8 (b) OR 9&"° (c) YR

(B) (6) 8 (c) OR 9e° (a) QR

(©) (c) 8 (a) OR 4<° (b) QM

(D) (a), (b) 8 (c) OR

( Space For Rough Work)
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DET/CHEM (4)

30. ZHI+H,0,——2H,0+], 30.  2HI+H,0,——2H,0+],

. -In the above reaction, RUsalg 956

(a) Cis areduced product. (a) C 6208 & Q906 aQIQ |

(b) B is oxidant. (b) B 6298 199 |

(c) Aisreductant. (c) A 6298 9GI16% |

(A) (b) and (c)are correct and (a) is (A) (b) 8 (c) OR 9<° (a) GM
wrong X

(B) (o) is correctand (b) and () are < (B) (@)OR %" (5) 8 (¢) @R
wrong

C) (a), (b)9<° (c) O
(C)(a), (b) and (c) are correct (€) (a), (b) ¥&" (c) OR

(D)(a), (b) and (c) are wrong (D) (@), (b) 9&° (c) YR,

( Space For Rough Work)
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31. (a) The chief component of bio-gas

and that of natural gas are the
same.

(b) The chief component of CNG and
that of LPG are the same.

(c) The calorific value of natural gas
is greater than that of petroleum
gas.

(A)(a) and (b)are correct and (¢) is
wrong

(B) (b) and (¢) are correct and (a) is
wrong

(C) (¢) is correct and (a) and (b) are
wrong

(D)(a) is correct and (b) and (c) are
wrong

DET/CHEM (4)

31.(a) 659 QYIQq 9L° GIGER MR JHY

QUIQIe I 26T |

(b) CNG 499° LPGQ ¢4 Qe
4Rl 26S |

(c) 91988 QY  SIERAIE Y
6C68IMAE QY] R Ry
0Ig 2N 26T |

(A) (a) 8 (b) OR 99” (c) QM

(B) (5) 6 (c) OR <" (a) QR

(C) () OR 9<° (a) 6 (b) QM

(D) (@) 0 4<" (b) 8 (c) QR

( Space For Rough Work)

{(Turn QOver)



DET/CHEM (4)

32. (a) Ignition point and kindling tem- 32.(a) RRQAIF ¥S° dRee <ldAlgl 4

‘perature are the same. 269 |

(b) All inflammable substances are (b) QNG FREER A1 QAT 2SS |
fuels.

(c¢) Oxygen is indispensable for com- (c) Qe IR 2GSIe AaaIdY |
bustion.

(A) (a) and (b)are correct and (c) is (A) (a) 6 (b) OK 9&° (c) gm
wrong

(B) (@) is correct and (b) and (c) are (B) (a) OR e (b) B (c) g
wrong

(C) (b) is correct and (a) and (c) are (C) (b) OR 9&"° (a) 8 (c) g
wrong

(D) (a), (b) and (c) are correct (D) (a), (b) 9&° (c) OR

( Space For Rough Work)
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DET/CHEM (4)

33. (a) Cooking is not possible without 33.(a) A@% @71 6163 Q1Y AaUQ

fuels.
(b) Factories cannot run without fuels.
(¢) Vehicles cannot run without fuels.
(A) (a) and (c)are correct and (b) is
wrong

(B) (a) is correct and (b) and (c) are

Wrong

(C)(a) and (b)are correct and (c) is
wrong

(D)(a), (b) and (c) are wrong

qes |
(b) 989 37! ARRIAHIF! YIRAIRR QT |

(c) 2R QP! JIFSILRA FRIOR dAS-
aQ 6% |

(A) (a) 8 (c) O] e (b) QR

(B) (a) OR <" (b) 8 () AN

(C) (a) 8 (b) OR & (c) QRN

D) (@), (b) 8 (c) YR

( Space For Rough Work )
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DET/CHEM (4)

34. (a) The absolute mass of an element
is obtained by dividing the gram
atomic weight of the element by
the Avogadro number.

(b) The atomic weight of an element
1s a mere number.

(¢) Atomic weight has a unit.

(A) (a) and (b) are correct and (c) is
wrong

(B) (c) is correct and (a) and (b) are
wrong ;

(C)(c) and (ayate cortectand (5) is -
wrong

(D) () is correct and (a) and (c) are
wrong

34.(a) 9@ 6AIR@Q gIf AIKAIEER
Qgeq QTSI A°HYI IQI QIS
@M 692 6A1FQQ AA ¢Q
a@ena |

(b) 4@ 610QQ QqIRAIERe Qg
628 699 @ A°EHl |

(c) QIRAIE88 ZRR IR 1aa 28 |

(A) (a) 8 (b) OR 49* (c) QR

(B) () OR 49° (a) 8 (b) YA

(C) (¢) 8 (a) OR ¥&° (b) YR

(D) (b) 0& ¥9* (a) 6 (c) QR

( Space For Rough Work)
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35. (a) CO, and SO, are natural as well as

man-made pollutants.

(b) Acid rain is due to the secondary
poilutants. "

(¢) Depletion of ozone layer in the
atmosphere is due to the primary
pollutants.

(A) (@) and (b) are correct and (c) is
wrong ;

(B) (b) and (c) are correct and (a) is
wrong

(C) (¢) and (a) are correct and (b) is
wrong

(D) (@), (b) and (c) are correct

DET/CHEM (4)

35.(a) CO,6 80O, 9IgEe 98° FAQNIQE

gqae 2ea |

(b) Qo19@ gER  64lg 2GS
6RIR2N |

(c) QYIERY 66K gaa 2
gizfie geae 6aig 621R2lN |

(A) (@) 8 (b) O] <" (c) QM

(B) (6) 8 (c) OR <" (a) @R

(C) (¢) 8 (a) OR ¥e° (b) QR

(D) (), (b) 8 () OR

( Space For Rough Work)
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DET/CHEM (4)

36. (@) In the case of calcium ion, elec-  36.(q) RIRAGE 2198  6886Q 4T

trons are there in 4 shells. EANER RERAGR: 21N |

(b) In the case of Aluminium ion, (b) MQORAe  alaa 6996 30
electrons are there in 3 shells. 6AMEQ REMRGR, 2N |

(¢) In the case of Fluoride ion, elec- (c) 69I0IRE, 2R  69g6Q 28

trons are there in 2 shells. ARG QEAIGR AN |

(A) () is correct and (b) and (c) are (A) (a) OR 9&° (b) B (c) M
wrong

(B) (b) is correct and (a) and (c) are (B) (b) 0R 9&° (a) 8 (c) M
wrong

(C) (¢) is correct and (@) and (b) are (©) (o) 0R ¥9° (a) 8 (b) @M
wrong

(D) (a), (b) and (c) are wrong (DY (@) (LY R E) g

( Space For Rough Work)

(24) (Continued)
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37. (a) Calcination and roasting are re- 37.(a) 49 9%IQ GG{OIQ” QATERAR 9Q° -
quired for all types of ores. 6QUF° IR |

(b) Calcination is required for some () 6866@ (QQIR  QIRACAAR 4e°
ores and roasting for some other 21N 69669 BRI 6QIF° AIRT@ |

ores.

(¢) Less air and less temperature are re- (c) 6918 U6AR QINICHAR IR |7
quired for calcination than roasting. QI NS @ SlanIgl AR |

(A) (a) is correct and (b) and (c) are

wrong

(A) (a) OR 99° (b) 8 (c) YR

(B) (b) and (c)are correct and (a) is (B) (b) 8 (c) OR 9Q° (a) 9N
wrong

(C) (b) is correct and (a) and (c¢) are (C) (b) O] 9e° (a) B (c) YR
wrong

(D) (c) is correct and (a) and (b) are (D) () OR 4<° (a) B (b) YA
wrong

( Space For Rough Work)

250) (Turn Over)
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38.(a) PPM (b) Micron (¢) Light year
out of the above three which are the
units of the same physical quantity ?

(A)
(B)
©)
(D)
39.(a)

(b)

(c)

(A)

(B)

(©)

D)

(a) and (b)
(b) and (c)
(¢)and (a)
(a), (b) and (c)

Mol. wt. is applicable in the cases
of compounds only.

Mol. wt. is applicable in the cases
of some elements and all com-
pounds.

Mol. wt. is applicable in the cases
of all elements and all compounds.

(a) is correct and (b) and (c) are
wrong

(b) is correct and (a) and (c) are
wrong

(¢) is correct and (a) and (b) are
wrong

(a), (b) and (c) are wrong

38.(a) 9. 8. 49 (b)AIRGR. () SRS

9 QUEAIg I 6RAYER 1R
cAIGR QIda 99 ?

(A) (a) 8 (b)
B) (b) 8 (o)
© (© 6 (a2
(D) (@), (b) 6 (o)

39.(a) 6997 6415 69Q6Q 2R 9G]

gqey |

(b) 69609 6AlRa 9 AAg 6KIGE
6996 26 9G] IYY |

(c) Q9g em@ 9e° AAg  64lGk
69Q6R 219 9gQ IYRY |

(A) (a) O) 9&° (b) 8 (c) YR

(B) (b) OR 99* (a) 8 (c) QM

(C) () 0R ¥e” (a) 8 (b) QN

D) (@), (b) 9= () Y

( Space For Rough Work)

(26)
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40.According to a certain principle  40.6q16Q@ 9@ AGY FAA QAN ARY
which one is different from the rest 36RI501q 6066 @R ?

three ?

(A) ARQIAR 2,
(B) <ol &g,

(A) Sulphuric acid
(B) Phosphoric acid
(C) Hydrochloric acid
(D) Nitric acid (D) *IRER 2g,

(C) 2IR6RICYFIAR 27,

o~

41.Approximately how many watermole-  41.4Q fRRGQ Qe @96a AIMAIY
cules would be there in one mililitre 6R6015 87 24 AR ?
. o ~ ol
of distilled water ? (aiGe 999 ALE! =1 gie/a.8.)
(Density of distilled water = 1gm/ml)

(A) 108.414 x 10% (A) 108.414 x 10%

23
(B) 54.207 x 102 (B) 54207 = 10
(C) 6.692 x 102 (C) 6.692 x 10%
(D) 3.346 x 102 (D) 3.346 x 102

( Space For Rough Work)

(27) : (Turn Over)



DET/CHEM (4)

42.AtNTP 112 ml of a gas shall be

(A) 0.001 mole
(B) 0.005 mole

(C) 0.0001 mole
(D) 0.0005 mole

43. Which one is not an alloy ?

(A) Au+Cu
(B) TPe+€

(C) C+S
(D) Pb+Sn

44, Which one of the following is placed
in another block instead of its own
block in the modern periodic table ?

(A) H -
(B) He
(C) Xn
(D) Ran

42,9199 919 6 SIgAIgIea 112 AR QI
62Q

(A) 0.001 69IR
(B) 0.005 6¢IIR

(C) 0.0001 6¢IR
(D) 0.0005 6EIR

43.69060 QG Q6L ?

(A) Au+Cu
(B) Fe+C
(C) C+S§
(D) Pb+Sn

—~

44. 21459 AdyIa AREIER FEIY Al
69Q0q 7% Q6 @ Q9 XY I
QR6Q AYIKIRE ?

(A) H
(B) He
(C) Xn
(D) Rn

( Space For Rough Work)
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45. Which one is the ore of mercury ?

(A) Galena
(B) Cinnabar
(C) Epsom
(D) Calamine

46. Which one is a balanced equation ?

 (A) ALC,+6H,0=4Al (OH),+3CH,
(B) 2A1,C,+ 15H,0=28Al (OH),
+6CH,
(C) 3ALC,+13H,0=12 Al (OH),
+9CH,

(D) AlLC,+12H,0=4Al (OH),
+3CH,

DET/CHEM (4)

45.9199Q 69 689G ?

(A) <IRS|
(B) QRIQIQ

(C) ~9Qq
(D) QINFR

46.6906 AAgM ANLQE ?

(A) ALC,+6H,0=4Al (OH),
+3CH,
(B) 2Al,C,+15H,0=8Al(OH),
+6CH,
(C) 3Al1,C,+13H,0=12 Al (OH),
+9CH,

(D) ALC,+12H,0=4Al (OH),
+3CH,

( Space For Rough Work)

(29) (Turn Over)
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47. (a)

(b)

CHHe > CI

Cun™"+2e — Cu

(A)
(B)
©)

(D)

(a) is reduction and (b) is oxidation
(b) is reduction and (a) is oxidation

Both (a) and () are oxidations

Both (a) and (b) are reductions

o

Here 'Q' represents the symbol of ar
element and out of the other two letters
one represents the mass number and the
other the atomic number of the
element. :

One atom of the element would have
(A)
B)
©
(D)

'a' number of protons and 'b' number
of neutrons

'p' number of protons and (a-b)
number of neutrons

'a’ number of protons and (b-a)
number of neutrons

'b' number of protons and 'a' number
of neutrons

47.(a)
(b)
(A)

ClH+e” - CI”

Cu™ +2e - Cu

(a) 6208 IQ8 99° (b) 6208
Q!

(b) 6298 IR I° (a) 62R8
A&l

QA (a) 9e° (b) 6298 FIQ€
Q@ (a) 99° (b) 6298 GFIQ4

(B)
©
(D)

48. Q

0I6Q 'Q' ¥R 6A1Rea ge1eg JeIe8
9e° QY QRE ARQ ANg 69T

Qge QHYQ ¥ T AQlg
QAIFY oIR8 | 6AIRRTR R
AQeIgeR &
(A) 'a' QR 6gIcQ €9° b QIR
eloe)
(B) 'b' Q@ie 69198 99° (a-b)
QIR DGR
(C) 'a @ 69I9] 9e° (b-a)
dHI@ FAYR.
(D) 'b'AHIR 6QITR 9L 'a' A°BNR
QSR

( Space For Rough Work )

(30)
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49.10 litres of an aqueous solution

contains 0.01 mole of a base in fully
dissolved condition. What is the pH
of the solution ?

A) 3
B) 4

(©) 10
(D) 11

50.The hydroxide of a divalent metal

dissociates completely into ions in
aqueous solution. 0.5 mole of that
compound would yield approximately
how much OH™ ions in aqueous
solution ?

(A) 2.008 x 10%
(B) 3.012 x 107
(C) 6.023 x 10%
(D) 12.046 x 10%

DET/CHEM (4)

'49.10 RACQ *R1G 286 0.01 67IRQ

98 219 YRl Q91ge 2QgIea
&R 1 9941Q pH 6@60 ?

Aa) 3
(B) 4
© 10

D) 11

50.49 QA6AIRT IR LURCLIRAIRG

PRI 2966Q A°YL IR 2IARER
Q6QIRG 29 | 69T 64159 0.5 671N
eRY @986Q dIS 6266 OH ™ 2198
Q8 Qe ? '

(A) 2.008 x 10%
(B) 3.012 x 10%

(C) 6.023 x 102
(D) 12.046 x 10%

( Space For Rough Work)

(Turn Over).



DET/MATH (4)

PART—III
(MATHEMATICS)

22
[ Take m as = if nothing ¢!se is said about it. ]

’e o 22
[ @34 6164 ORI @ ASR T RIC El NRLIQ K9 1]

51. P4 and PB are two tangents to a 51, 65118 Qe g9é ase ade P4 6

circle with 4 and B as the points PB @ 94@Q Qg6 4 6 B | @@

of contact respectively. If
m/APB = x° , what is the measure in

degrees of the angle inscribed in the

mZAPB = x° 94,6069 A4 G B die
9q Q98 ge 9I99 AINYS 61164

QaeIe 6960 B ?

minor arc with 4 and B as the end

points ?

*) 902— X | A) 902— X
; ®) 9.02+x B) 90;—x

(© %03 © ‘90‘326‘

(D) 90+§ | (D) 90+§

( Space For Robgh Work)

(32) (Continued)
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52. AABC ~ A POR. The length of the 52. AABC ~ APQR | A ABC @ qryql

median 4D and the area of A ABC ADQ 634y 68 69eTR QAR m
are m cm and a cm?® respectively. 62.8. 6 @ 9%6d.8. | APOR @
What is the area in em? of A POR, 6ad AYAl ADFANAl Q2 2gag,
if the median corresponding to AD QI 6944 n 62.8. 626R A POR @
is ncmlong ? CAGTR 660 Q6.4 ?

am am
@ — | & -

m m
B — pm——
B8) — B —

2 2

an an
s = =
) = (©) —

o 55 2 | 7
D e
®) — ) —

( Space For Rough Work)

(33) (Turn Over)
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53.Given : f(x) = 2x + 3, x € R. For

1
what value ofa, / (’(;) ==59

1

(A) +Z
1

(B) i
©) +l
2

b
(D) 5

54. A lady paid 36 rupees to a boy and sent

her to the market to buy mangoes. The
boy bought mangoes for the money he
took and ate one of them. Then he
gave the rest to the lady. If a mango
costs 50 paise more to the lady than
what was actually paid for it, then how
many mangoes the boy bought for 36
rupees ?

(A) 9
B) 8
©) 7
(D) 6

53.9 28 : fx)=2x+3, xeR1aq

-, o 1
60a 7I IR f(;) Q qle —5 629 ?
1
(A% g
B) —7

© *+3

@) =5

54.268 Q18R 69189 ARG 36 O 69

g1a A8QIg 9919g JOIRER | G
692 GFIER A REAIQ QYUY 66T
HRCeR G AR NG AQ ARG
6QRI | N2l QA FRRIG AR 9% 998
QIA0Ig 50 ORQAl AR AGMI | 636Q
ART QRIAY 36 O 69R 6R6ET A

@seml ?

(A) 9

B) 8

() 7
(D) 6

( Space For Rough Work)

(Continued)




DET/MATH (4)

55, The centre of the circle 4BC is O and 35. ABC Qe 688 O 499° OABC 4@

"OABC is a rhombus. If the area of

the thombus is 2./3 cm? what is the
diameter of circle ABC ?

(A) if— cm

2
(B) :/? cm

(C) 2cm
(D) 4 cm

56.P is a point on one side of an equi-

lateral triangle. What is the sum of the
lengths of the perpendiculars drawn
from P to the other two sides of the
triangle if the length of each side of

the triangle is 2,/3 cm ?
(A) 6cm

(B) 3cm

(C) 2 3++3)em

D) B 2++3)cm

Qg | QAQA 6R8TR 2.3 Q
6Q.61. 626R, ABC 9818 M4IQ 6@6G ?

(A) 12—3— 6.8,

2
(B) ﬁ 6.4,
(C) 2 6a.d.
(D) 4 6.4.

56. 2./3 62.4. Q1d QIg 38 9@ ARG

GQea 6915 Qg @adg 9@ g P
0Ig &R g QIg 9@ AFS ARYLQ
64 QNG 6060 ?

(A) 662.4.

®B) 36ad.

(©) 2 3+/3)6aq.

D) 3 (2++/3)62.4.

( Space For Rough Work)

(35)

(Turn Over)
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57.How many spheres of largest possible
size can be obtained in maximum
from a wooden cuboid of dimension

44cmxT7cecmx3cm?

(A) 25
(B) 28
(C) 32
(D) 35

58.The radius of a cylinder is 8 cm and
its height is 3 cm. By how many
centimeters should either the radius
or the height be increased so that the
increase in the volume remains the
same ?

1
@) Az
1
(B) 3;
: 1
(©) 5§

(D) 3%

57.44 6Q.6. x 7 6Q.8. x 3 6Q.8. 9gC

QAY 9@ Q0 FUQ ARY VAT
QAR AR 6R66T 69INS YR 621
ae ?

(A) 25
(B) 28
) 32
(D) 35

58.8 64.8. QUIAS G 3649.5. Q90 3L

@ ARgeR QuIAIE AR Q9oIg
Q60 6QEFCQ QTINCTEM, YR
6906Q JRNEQR KSR AR
J3QIEQ 9&F A% ?

-
(A) 55

1
(B) 35

1
©) 5§

1
©) 35

( Space For Rough Work)

(36)
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59.1In the right triangle ABC, AB=AC =
7 em. An arc with centre 4 is drawn
touching BC . If the end points P and
Qof'the arc lie on 4B and 4 , what

area in cm? is enclosed between the
arcand theradii 4P and 40 ?

(A) 155
B) 17.5
(C) 19.25
(D) 21.25

60. What is the ratio between the length

of a side of an equilateral triangle

inscribed in a circle and the length of

a side of a square circumscribed about
the same circle ?

3.
w &
3
® 5
(©) ?
i
® 7

DET/MATH (4)

59. ABC Q96161 G AB=AC =

762.8.1 AQ 628 @@ aASS QIQ
BC 999 @6Q | Qg 9199 9I8 39
P 8 Q Qegea 4B B AC Q969
2QPe 626R, 692 919 B G’ YIAIT
4P 8 10 Q9 SR 699 63QTR
6Q60 Q4 6Q.8. ?

(A) 15.5
B) 17.5
(C) 19.25
(D) 21.25

60.69159 9aQ LRGeS AAAY G

QIS QIgR 6@EY 6 6QR 909
JONYe AFRGER 69T QIgQ 6T
219410 6Q60 7

(A) —?
3
B) 75
©) g
2
(D) B

( Space For Rough Work)

(Turn Over)




62.1f 20

DET/MATH (4)

61.A test was given to the two sections

A and B of a class. The average score
of 20 students of section 4 was 80%
and the average score of 30 students
of section B was 10% less than the
average of section 4. What is the
average percentage of the whole
class ?

(A) 74

B) 72

©) 70
(D) 68

is the mean of the scores
e Kt W ey e 16 in number, then what

16
is Z(x,.—IS) equal to ?
=1 -

(A) 36
(B) 34
(C) 32
(D) 30

61.6915°9 6g411Q Q@6 6497 A B B6Q

62. X5 Xgs Xy xes

69115 aIdl QAUAIRAR! | A4
6QgREa &l 20 G4 BIgFa LRLIQ
GAQ Rl 80% | B 69999 30 @€
PIgea AR QA A4 69909
Qg@ @Ra 01 10% Q¢ 616w,
gal 64418 QI @a Fewg!

ER6e ?

A) 74
(B) 72
(€) 70

(D) 68

2@ 16 6918 AR

| 16
qluiale 20 seeq, 2.(x.-18) g
i=l

Qe 660 ?

| (A) 36

(B) 34
(C) 32

(D) 30

( Space For Rough Work)
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63.When one pair alternate sides of a
regular polygon were extended, they
met at an angle of measure 108°,
What is the number of sides of the
polygon? :

(A) 10
(B) 8
(C)..6
(D) 5

64.E is a point on BC of a rectangle
ABCD. If AE = 25cm, DE = 26 c¢m
and 4D =17 cm, what is the length

of 4B incm ?

(A) 20
B) 24
©) 30

D) 36

DET/MATH (4)

- 63.99 980 9Qea 69ISY 8¢ 6989

QIgQ e8¢ QAQIQ, 64 QA 6897QER
QQR 62RYSl 6RIGQ Qe 108°
626M, QLYFA Y A°GY| 660 ?

(A) 10

(B) 8
©) 6
(D) 5

64. ABCD 219699Q BC Q98¢ E 9@

QQ | AE =25 6Q.9.., DE = 26 6Q.8.

9Q° AD = 17 6Q.6. 626R, ABQ
6364 660 6Q.8. ?

(A) 20
B) 24
(C) 30
(D) 36

( Space For Rough Work)

(Turn Over)
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“65.In triangle ABC, ZACB is a right 65.4BC G@e® ZACB @ QA6RIE 9e°

angle. The perpendicular drawn to 2B 90 9210 Y §Q D Ol6Q AR
4B at its mid point D nieets BC R Bcg E GQ6a 6@ @6Q |
at E. If AB =20 cm and AC = 12 cm, AB =20 6Q.9. 8 AC = 12 6.4,
what is the area of the quadrilateral 696R, ADEC 9QR9Q 68QUs 6960
ADEC in cm? ? qdiea.q. ?

(A) 375 A) 37.5

(B) 48 (B) 48

(C) 585 (C) 585

(D) 75 (D) 75

66.What is the inradius in cm of AYBC 66, AABC @ ZBAC <& QAeQidl |
in which £ZBAC is a right angle, AB=86Qf. <@ AC=15 6Q.9.

AB=8cmand 4AC=15cm? 626R, AABC @ 2SIQIQIE 660
64.6. ?
A) 2
A) 2
' B) 3 (
' ‘ B) 3
| (C) 4 (B) |
C) 4
D) 5
(D) 5

( Space For Rough Work)
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67. Which of the following, when added

to the antecedent and subtracted from
the consequent of the ratio 5:13,
changesitto4:5?

(A) 4
B) 3
€) 2
(D) 1

68.1f p, g, r and s are in continued pro-

portion, which of the following is

equal to f— %

(3]

(S

(A)

L=

(B)

\|~Q 5
w -

R,

2

©

~

i

(D)

\:ulda

DET/MATH (4)

67.90¢ 699 Qg 5:13 2gaiea g

dQ 492 64I9R6M N9° Aedeq 62T
Q6M, IR 2AQAIGT 4: 5 629 7

(A) 4
B) 3
(€ 2
(D) 1

68. p, g, r B s 9% AAIQAIGI 626R,

o009 6996 f Qae agig ?

9

A ==

=

B) =

™

©)

\'N]Q

D%

( Space For Rough Work)

(Turn Over)
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69. What is the number obtained if the  69.69I8 QR && 58 A°WIQ R 2T

digit & is placed between the two
digits of a two-digit number with 7 as
the ten's digit and u as the unit's digit ?

(A) k+t+u

(B) 10t+k+u
(C) 1007+ 10k+u
D) 10z+100k+ u

70.1f 4000 was distributed among

P, Q and R such that twice the share
of P, half the share of Q and two third
of the share of R are equal, then how
many rupees did R get more than P ?

(A) 500
(B) 750
(C) 1000
(D) 1500

1B 9QR U@ u | QIR B 99e QY
Y6 2R k£ QAINEM, OR A°HYIT
6960 629 ?

(A) ktt+u

B) 10t+k+u
(C) 100¢+10k+u
(D) 107+ 100 &+ u

70.4000 oI P, Q B R ¢RIY6Q €Q@

AR ALILIGRI, 6ACR P Q 9
9@gd, 0 Q QIR &I B R Q Q99
QRGPS QDR 689 | 6069 P
26ARYI R 6Q60 OF| 2R AIDM ?

(A) 500
(B) 750
(C) 1000
D) 1500

( Space For Rough Work)

(Continued)



/1. Which are the roots of the equation

x(x*> =8x+15)=07

(A) 43, =5
By —-3,+3
(C) 0, -3, +5
(D) 0, +3, +5

72. A picnic party hired some taxies. When

4 of them shared a taxi, then 5 could
not be accommodated. When 5 shared
a taxi, then only one was to move in
the last taxi. What was number of
persons in the party ?

(A) 9
(B) 29
©) 31
(D) 41

DET/MATH (4)

71.Q19Q48 x(x* -8x+15)=0Q €@~

Qem @a ?

(A) +3, -5
B) -3,+5
(©) 0, -3, +5
D) 0, +3, +5

72.Q46QI91 9AQIQ FIRASI 68608 NG

Q9! 211gRIS Y664R BYIGER 4 K€ 6REHIN
A6R, 5 FE ARALE | g8 TR 5 [l
6ASN SR, 648 QPER 6@ F66
QPG GRUQ UEY | 6069 64 QREQ &S

- emi@ Q°ClYl emee ?

A) 9
(B) 29
©) 31
(D) 41

( Space For Rough Work)

(Turn Over)
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Xy Yz zx
73.1f =, =ban =z
X ==y AR 2 i, Z+X

where a, b, ¢ are non-zero numbers

?

what is the value of x ?

2abc

(&) ab-kbc-%ca

2abc
ab+ bc —ca

(B)

abe
ab+bc+ca

©)

abce
ab+ bc —ca

(D)

.70) =a’ yz :bﬂ o o

X+y y+z Z+Xx

73.49%

=C

24, 6990 a, b 6 ¢ AGYH Y, 6969
XQ 79 6960 ?

2abe

Gl ab+ be + ca

2abc
ab+be —ca

(B)

abe
ab+bec+ca

(©)

abc

(D) ab+bc—ca

( Space For Rough Work )
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X+2 '
2_ _ : 5 +2 " i
following is equal to x 9 g QaIe 9
¥+l 2
S —— Y +1
A @ 55
y2+1 2
< T Y +1
® 7 ®) 5
y;’_l 2_1
Y L
L e
2
P : D) y =1
@) 5= ¥ =2

75.9+47x -2 ‘=0 491e9d89 qo S
- 75.What is the difference between the D e wea :

T0ots of the equatiop 9+7x-2x2 = ? AR 66 9
21 e JER
ity @ 25
e B) 4
|

) — 1
i © 53
(D) 7 (D) 7

( Space For Rough Work)
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76.1t is given that log8=0.9031 and  76.9% log 8=0.9031 9&° log 9 = 0.9542
log 9=0.9542 ; then the logarithm of Q| &, 6669 RG-669 & 699 @ﬂg

which of the following numbers
cannot be determined without using

the log-table ?

@A) 15
®) 17
©) 40
D) 60

77.For which of the following pairs of
roots, the quadratic equation could

take the form log ,(x* =15x)=2 2 ~

(A) 20, +5
(B) +20, -5
€) +20, +5
D) -20, -5

6RQ AR REIAGA 4 el
QIRe QI ?

(A) 15
(B) 17

(C) 40
D) 60

77.861g 699 64181 R MT, 9@ FI0
QANRRAER QE 629

log,,(x* =15x) =27

(A) -20, +5
(B) 420, -5
(C) 420545
(D) 20, -5

( Space For Rough Work)

(46) (Continued)



— 1
78.1f log - 2y =§(10gx+logy), then

what is X2 +1?equal to ?

(A) 4xy

(B) oxy

Gt
®) &

79.Given log2=0.3010 and log3 =
04771 ; is the
log 0.36?

what value of

(A) -1.4438
(B) —3.4438
(C) 1.5562
(D) 3.5562

DET/MATH (4)

Sk
2
Bog 69@e x2 + ) 42 AR 629 7

: :
78. log = 5(log x+logy)  626®

(A) 4xy
(B) 6xy

©) &

(D)

79.9@ : log2 = 0.3010, log 3 = 0.4771 ;
log 0.36Q QIS 6R6G ?

(A) -1.4438
(B) -3.4438
(C) 1.5562
D) 3.5562

( Space For Rough Work)

(47)

(Turn Over)
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80.If log16=a and log27 =5, then
what is log 72 equal to ?

@ Z+2
3 4
3a  4b
3
2

(B) S5t

3a b
_+—
4 3
4a 3b
__.+_.
3 2

(©)

D)

81.If a”" =b"=pand b*= @ = g, then
which of the following is true ?

(A) pg=mn+xy
(B) pg=mn-xy
(C) mx-ny=0

(D) mx+ny=0

80.log 16 =a 4Q° log27=05b 696,
log 72 @ QI 660 ?

b 2,
) 3 4

5 a4
()2 3

o 3,2
()4 3

oy da, 3

D) 3 5

8l.a"=b'=p <
299 6896 OR ?

b'=a’=q 6368,

(A) pg=mn+xy
B) pg=mn—xy
©) rﬁx =ny =0
(D) mx+ny=0

( Space For Rough Work )

(48)

(Continued)



DET/MATH (4)

) . +y+
82. Which of the following is equal to 82.50q 60468 eyl :_C y‘J‘}z_"z+ ==
SR x+_%):z T QAL Qe ? -
Xy +y z +z X
A) x! izt
A) x'y'z? Y
(B) xyz (B) xyz
©) x+yt+z © x'4+yt+z!
(D) x+y+z D) x+y+z

83.1f \1++1+ 1+ ...=x, then which 83 \1+\1+I+..=x 626R, @99

1

of the following is true ? 6996 OR ?
(A) 0<x<1 (A) 0<x<l1
B) 1<x<2 (B 1S 2

C >2
©) x>2 © =

D) x>3
(D) x>3

( Space For Rough Work)

(49) (Turn Over)



DET/MATH (4) -

84.If 137 =4'-3' _6, whatisthe value  84.13" =4°—_3' 6 coeq. x@ qIQ

of x ? - 6ReR?
A) 4 f (A) 4
B) 3 T (B) 3
) 2 ' (C) 2
D) 1 D) 1

85. What will be the denominator in the 85. Z\ET—‘/E Q Aeg Yo adsae

simplest form of %ﬁwhen the Qi CREe @6A, YL 209
numerator is rationalised ? daw1Qe AIF 6966 629 ?
A) 23+32 (A) 23+32
B) 23-32 B) 23-3/2
(© 4B+32 ©) 43432
D) 43-343 D) 43-32

( Space For Rough Work)

£50) (Continued)



86.1f f(x)=

2
x+2
f (c) will be undefined ?

, for what value of ¢,

B) -3
©€) 2
D) -2

87.1f QI,"QZ, O, and Q, represent the
four quadrants in the R*-plane, in

which of the quadrants the graph
of the function y =|x| does not lie ?

(A) Q, and Q,
(B) Q,and Q,

(C) Q, and O,
(D) Q, and Q,

86. f(x)=

DET/MATH (4)

2x—1 ' g
6E96Mm, cQ 691

x+2
AR F(c) ARIFLR 629 ?

1
(A) )

1
(B) )

(C) 2
D) -2

87. R*-QAGRQ Q8IS AIeg Q,, 0,, O,

8 Q, 9|l goIasm, y=|x Teea
6RS 606 AIP6Q Qe QI 9

Ay 9,60,
(B) Q,060,
©) 9,60,
D) 9,869,

( Space For Rough Work)

{51) (Turn Over)
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88.What is the maximum value of 88 p>0 69Q6Q 2+3x— pxa Q]QIQQ

2+3x— px* where p>0? IR 6260 ?
(A) 21;;9 ’ (A) 2[;; :
- ®) 2?;9 | ® 2%52
© 85;9 © Si;9
& Si;gA i, D) §§§2 T
89.1f 67=21=3_ which of the follo- 89.67 =21 =3" gaeq, @qg 6eee

e qle ?

wing is equalto ' ?
(e @8 eap, g r 97 928 )

(Given : p, g, r are non-zero numbers)

A) pl4g | A pl4g
®) p'-g" Rl -
©) pg! © pg
@) pq | A

( Space For Rough Work)

(52) (Continued)
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90.If the sum of (1010100), and 90.(1010100), @ (1001000), @

(1001000), is divided by their diffe- SAINEIECAR THH TREE. SSOE
A TR QU VAINER, AUITR ER6E

rence, what will be the quotient ? ‘ 62Q ?

(A) - 1011 (A) 1011

(B) 1101 (B) 1101

(C) 1100 - | ' (C) 1100

(D) 1001 (D) 1001

1 91. What is the binary number equal to 91,(1.00()())2' 6 (11),9 T Qe

product of (10000), and (11),, ~ J|06Q 6@6e 629 7
(A) 10110000 (A) 10110000
(B) 10101000 (B) 10101000
(C) 110000 ~(C) 110000

(D) 100001 (D) 100001

( Space For Rough Work)

(53) ‘ (Turn Over)



DET/MATH (4)

92.What is the value of p + g ifeach of  92.x-2 8 x+3 = geeve
x-2 and x+3 is g factor of x* + px? +gx-12Q R QQIee
¥ prtge—12 7 S26M, p+ g QAP 6066 7.
(A) +1 (A) +1
B) B) -
©) +2 C) +2
®) 5 ‘ @) -2

‘ 1
93.If &’ -3a+1= 0, what is the value of 93. 22 —3a+1=0 cesm, a’ +a-3Q ae

Py
B g 6966 ?
‘(IA) 9 (A) .9
®) 12 | B) 12
(C) 18 | (€) 18
D) 21 _ ) 21

( Space For Rough Work)

(54) (Continued)
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94.For which of the following values of ~ 94. aQ Rdg 6RQ AIR IR ARCRIA2IR

a, polynomial 21x* + ax + 21 gives 21x* + ax + 21 @ QAQIRRQEEQ
two linear prime binomial factors ? QRETIT RAIGT 6(IRR gRAGT QLR
a@e ?
(A) 58
| (A) 58
(B) -58
(B) —58
(C) 84 ‘
(C) 84
(D) -84 .
(D) -84

1)
95.If /* %1, for what value of (H-—) . L ~ i
_ r 95.99 -1 99, 669 nEele

AN

1
"3+—3 will be equal to zero ? - o« 3. 1
r 6 e A, 7 +r—3Q e 9«

_ 629 ?
A) 0 : (A) 0
B) 1 B) 1
C) 2 n " (C) 2
(D) 3 D) 3

( Space For Rough Work)

{55 ' (Turn Over)
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96.Which of the following is the real 96.509 6296 4v'+1Q QIge QQaw-

factorisatiqn Of 4% #12 GHE 2, @€ ?

(A) (2x*+x-1) (2x* =x+1) (A) 2x +x-1) (2x* —=x+1)
B) @2x*+x-1) (2x*-x-1) B) 2x*+x-1) (2x* - x=)
©) @ +2x+1) (222 -2x+1) ©) @x*+2x+1) 2x? 2%+ 1)
D) 2x*+2x+1) (2x* +2x - 1) . (D) @x +2x+1) (2x* +2x— 1)

97. Which is the largest number by which ~ 97. m QI g Qd s e ad

the polynomial m’ —m is divisible m—m eea QRS A QIR RISy
for all possible integral values of m ? e 2 ‘
(A) 4
®) 6 | A) 4
©) 8 | or e
Prp o s
D) 9

( Space For Rough Work)

- -

(56) e (Continued)
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98. Which of the following is not equal to 98.509 6Q96 4@ AU 9ede Qogiyl

a terminating decimal ? Q6w ?
@ = W) =
64 64
0 - B) —
192 192
(€) o o
96 96
®) = . ®) =
224 224

99. Which of the following is an irrational 99.3q¢ 6aad V2 6 3 auyeet we

number between /2 and /3 ? | 2Aq6a Q°@Yl 7
(B) @ .(B) @

/30 '
© \/T—' ©) @

( Space For Rough Work)

(57) (Turn Over)



DET/MATH (4)
a+b S5a—-4b+3
. =11 IS e a+b
100.1f P ,What 18 Sa+4b+15 100. a_b=11
equal to ? Al 6960 ?
1 1
(A) 3 (A) 3
2 2
(B).g - (B) -
1 1
© 3 © 3
2 2
-3 @) 3

ceL6em

5a—-4b+3 .
" Sa+4b+15

( Space For Rough Work)

(58)

VT
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